Fall arrest absail
‘ / eyebolt system

NOTES:

: 1. Ladder to be used only by trained personnel having
. ‘ N approved fall arrest system.
o [~ M~ -] 2. Minimum fall arrest system requirement is double

lanyard and full body harness.

\ n 0 / 3. Sign to be fixed to ladder indicating this requirement.
-| \ y 4. Design life, design loadings, durability requirements,
= = = FEENNN| serviceability requirements, load combinations,
maintenance platform requirements, fall arrester
system, Grantry protection barrier etc. shall be in
accordance with TMR "Design Criteria for Bridges and

!1
]
i
+\
X
|
|
|

Other Structures”.
ETECTION ﬂ PLAN VIEW 5. Standard notes shall be in accordance with the
v relevant Notes from TMR "Structural Drafting
Standards”.
| | /—Support Structure 1 6. Loading
. ‘ ‘ —— : ¢ Base Plate loads
| m } [lt:_ﬁ_ _‘_ J‘T_ ! Mux  (kNm) = xxx
—_———— Muz  (KNm) = xxx
| I r T
| I i I \ | F==a | L | L \ L Ll \ Torsion (kNm) = xxx
} H H } }TTL ‘ J } } } } Axial  (kKNm) = xxx
Lk : g I | \ Support Structure 2 \ Shear  (kNm) = xxx
e } | L 7‘7 J } | \ / \ o Gantry Deflections (mm) Horizontal Vertical
N E N I ‘ ! m‘ DL only - XXX
\ T W \ 5 T T | ‘ ”‘ LL only - XXX
‘ I ‘ I | 1S | F=/3 H‘ \ \ H\ WL+DL XXX XXX
il | s 8 L | | 11—
LD ] 8| Top of Weldiok S | orE 1 -
1,01 | | Floor Grate IR \ \ i -
I I I I || E==4 H‘ ] [ 0l
N T . || ‘ I I
| ‘ _H = L 1L N 1!! I IN] ]I[ L1 I \I! 1 \HI L
' ﬁﬂ ‘ Fol amrest [ _-d-f T - ———— I i B S R i S T T
| | e FF |
\ \
} } = } I }‘ == ‘} } Slot holes (at bottom Bolt
——— =2 jo a4y als flange only) for horizontal
I ‘ o \9‘ el odjustment of sign I F Oversize washer to
A } | } A H JH,,,,”L,J cover entire slot hole
v r\ ‘ } v [\Ft B 7f Load indicating washer —
| | | L]
! | ‘ I Flat washer
| | L1 : FLANGE /FLANGE
F==5 ¢
. H r\ Dl } ) } | H ‘ u } CONNECTION BOLT °
HE | ! | N u:f!f | ARRANGEMENT g
8ls | | | i \E;‘;ﬂqﬁ‘ | VIEW DETAIL 5
SIS Nl LT NTS : SECTION /"B
\ HF=73 4 NTS U
i } Tl ‘ I H } g =
S M | ==kt ;|2
7 } ‘ } > } 1l ‘ (I } > »
U [ _ o |
,,,,, T — e e e el =14 | —
T 1-P L | j\ f 2
\ # \ | \ °le
Omit landing if “not | \ } . ! } 8|
reasonably practicable”, such | | [ | ‘ [ ‘ g2
. e . | i i i o
as landing within working | | | | 9
width or over carriageway. } | } ‘ } . X -
AS 1657 Clause 7.3.6 Note 3 ‘ \ ‘ } | orking width Shoulder LANE 1 LANE 2 N £
1 \ ! ‘
9mn_t| T | ‘ | } ‘ 2
75 max | 0 | } | \ o \ N Mast vy
} | ‘ l } Lockable ladder door or = ‘ } § ‘ {1000
| (- Aluminium protection guard on | I
| ‘ ‘ ‘ |  both sides of ladder to prevent | ‘ \ ‘
I ! ‘ | unauthorised ladder access. | r*‘**} } ‘
H ‘ } | } Temporary steel wedges } [ } | FRAME TILT DURING
1 (e levelling bolts for 1 } nES | ‘ CONSTRUCTION
I installation (levelling N16 @ 200 | }\ IR | NTS
(IR ==== ; _ | A [
} % I nuts not_permitted) starter bars o L,%,J | ‘ Mast to be laid back prior to attaching gantry.
| \ \
S ammn,, O IRENN ‘
\V4 g tH —— \V4 e e s i 1
== I = =1 = e
[ | I L R T epartment of Transport and Main Roads
m TR “‘ o P P m
\ [ | T I
Il H H H \M l‘#ﬁ‘_},, i |TS — CANT”_EVER f©TThe Sta;e ofd QALAAe.ensFLanZ ngg?r:ment
| uu u | [T T T ; ?.vttp://c?euﬁvecommons.mg/
‘f ‘f 2x#80 conduits for power and Government feences/by/ 3.0/
END VIEW comms. with entry between ELEVATION CANTILEVER STRUCTURE A3 Standard Drawing No
reinforcing bars and rag bolts. Not
Pit located by others not DRAWING 1 OF 3 to 1 581
within slab or foundation area.
SIGN POST DETAILS S;“‘T | IDOtel &/ “l* |




9500 max

Bracket with slotted f
holes to fix ladder

Gantry direction

4 holes ¢50 on 750
PCD for galv. venting

10 thick closing plate Bracket for Adjusting
1/ bolted to CHS @ Rod (Refer drawing

‘ 1581 drawing 3 of 3)
T 8] I [ I ] | LT i
| [ |
| \
| | }] ! | ! | ! |
| ‘ } ‘ \ ‘ \ ‘ ‘
5 | ‘ | I I | |
- | | I I | |
g I ‘ I [ I
No) | | | ‘ I | ‘ | |
\ \
| \ } ' L I : \ | \
e
EN——F -t - ==
Gusset plate for Clevis Mounting
Bracket (Refer drawing 1581
drawing 3 of 3) @ SEC“ON‘ E )
NTS
ELEVATION

SUPPORT STRUCTURE 1

Grating T Handrail <
S Floor grating Weldlok A40-205 & S| 10
aﬁ:gecﬁsi;ngsiggte’ Latch this side protection'mesh, eg Maste(mesh =
L 8 spaces @ 850 = 6800 LD 1616 is on top of grating ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ |
Upper cage hoop / ,,,,,,,,,,,,,,,
J
| = == DETAIL < >
—= —
- ‘ \\ J L ] 1 -I ]:,r ] ] L Adjusting Rod (Refer drawing
(/,ﬁ,ixy SN | B = | RE— | DE——— IR © | IS & i EE— | S— I 1581 drawing 3 of 3)
K“/ _ Provide protective cap
N | == over adjustment rod
N 4
}_/ PLAN L Masterr:nesh FM1‘9’
| full height of railing
@ 25 1207 ‘ .
T |
) |
o |
u;,; ]
Vi |
={E Sign Box |
=g L] SRR 1
M \ EBRREILS I -
K m m m m m m m 0] ] i Gusset plate for Clevis ~ 71
T | m T a T m m | | I Mounting Bracket = —
(Refer drawing 1581
@ drawing 3 of 3)
ELEVATION VIEW ASSEMBLED END VIEW
SUPPORT STRUCTURE 2
Department of Transport and Main Roads @ @
|TS — CANT”_EVER ©The State of Que.ens\and (Department
of Transport and Main Roads) 2014
http://creativecommons.or
Queensland ncepnc/e/s/ny/s.o/ou /
Government
CANTILEVER STRUCTURE A3 Standard Drawing No
1581
DRAWING 2 OF 3 to
Scale Date 8/14
TS N N A




#18 hole for M16 bolt
to handrailing

9356 Weldmesh 50x50x3 black
150 50 394 — 394 , fully welded at ends
r 359 T 1]
295 Hinge point.
Gate to rotate in
"N’j \ the horizontal plane
IR TW ] ﬁ
P | o & o %
M
3 | 5 R
: . | Y X
W ‘ ‘ NR% internal
o= | 1002
r~ ‘ I 1
T
210 I/s CAGE GUARD
982 1/S
LOWER CAGE HOOP UPPER CAGE HOOP
140
10 85 2 leooles $26 @ = 100 = 140
ne 16, 35 16 100
R36 — Drill 4 slots
| 0f 14X24 \ 4914 holes
T / ‘/ 1} — } — Z < 1} }
H T ‘ 7 \ q ‘ 10 PL
e 14 | .//
& gl e N 1 N 0 hL gl e 77777717,7,_
7
- |
o4 LU & | &
L | u‘_j 1} | 1] |
Y \ \
VIEW @> CLEVIS MOUNTING BRACKET % CLEVIS BRACKET BACKING PLATE *
375
960 926 thru 330
R35 X M24 nut M24 nut Gr 4.6 & washer Yellow plastic end caps
N\ Gr 4.6 M24 washer, nut & / M24x3.0 threaded rod PC4.6
i thin locknut Gr 4.6‘ A AS 1275, Class 6g
—===9 N 320 long
4—’:
+ 3 N 7’K:i:§@777 I |
T 77‘\77;/ -
\weo billet — 140 long
50 AS 1442-1022
VIEW 60
Drill 821 — 55 deep
105 Tap M24 — 50 deep

ADJUSTING ROD *

* The adjusting Rods and Mounting Brackets are fixed to the rear of
the sign box. The sign box is attached to the cantilever support
structure by these rods and brackets at the locations as shown on
drawing 1581 drawing 2 of 3.

B]
e
-

Mastermesh FM19
full height of railing

2000 min
2200 max

Fall arrest
system

Varies — refer layout & site drawings

ﬁﬁ

UPPER LADDER — GANTRY REAR

Department of Transport and Main Roads

ITS — CANTILEVER

CANTILEVER STRUCTURE
DRAWING 3 OF 3

(CHOM

©The State of Queensland (Deportment
of Transport and Main Roads) 2014
http://creativecommons.org/

Government licences/by/3.0/au

A3 Standard Drawing No
5 1581

to

Scale Date 8/14




	SD1581A_sh1
	SD1581A_sh2
	SD1581A_sh3

